If not, find the reduced row

1. Are the following matrices are in reduced row echelon form?
echelon form.
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2. (4 points) Suppose the linear transformation T': R® — R* is given by

x ‘E1
T m; = %ml +1$'2
s zz + 3%3

433 — I

Find a matrix A such that A% = T(Z) for all Z € R3
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3. (3 points) How many solutions does the following system of linear equations have? Ex-
plain why.
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4. Are the following statements true or false? No justification is needed.

(a) (1 point) If A is a 3 x 3 matrix and A% = 0 has a unique solution, then A% = b hag

8 unique solution for every b € R®.
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(b) (1 poi i
) ( point) IfAlSaﬁxSmatrixandBisaBXGma.tnx then AB = BA
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(¢) (1 point) The vector # — |4
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5. (5 points) Two vectors 7,17 are orthogonal if ¥+ i = 0. Find iri tion whose
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6. For each of the matrices below either find an 1 \

(a) (3 points) 4 = [2 5 4 J some YV 52 )
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